
2(𝑥 + 5) = 5(3 − 𝑥) = −3(𝑥 + 7) =

4(𝑥 + 5)
−9(𝑥 + 3) = (𝑥 − 2)7=

6(3𝑥 + 4) = −4(7𝑥 + 4) = −2(9𝑥 + 11) =

5(3𝑥 − 8) =

𝑥(3𝑥 + 7) = 4𝑥(𝑥 − 2) = (7𝑥 − 3)𝑥 =

3𝑥ଶ(3𝑥 − 5) =
−7𝑥(3 + 8𝑥) =

5𝑥(6𝑥 − 3𝑥) =

−2(4𝑥ଶ + 8𝑥 − 2) 6(2𝑥ଶ − 4𝑥 + 1) =

9(2𝑥ଶ + 3𝑥 + 4) = 7𝑥(2𝑥ଶ + 5𝑥 + 7) =

−8(3𝑥 − 7) = (6𝑥 − 9)3 =

−(4𝑥ଷ + 3𝑥)2𝑥 =

 𝑫𝒊𝒔𝒕𝒓𝒊𝒃𝒖𝒕𝒆 𝒕𝒉𝒆 𝒇𝒐𝒍𝒍𝒐𝒘𝒊𝒏𝒈 𝒃𝒚 𝒎𝒖𝒍𝒕𝒊𝒑𝒍𝒚𝒊𝒏𝒈 𝒕𝒉𝒆 𝒏𝒖𝒎𝒃𝒆𝒓 𝒊𝒏 𝒇𝒓𝒐𝒏𝒕/𝒃𝒆𝒉𝒊𝒏𝒅 𝒐𝒇 𝒕𝒉𝒆 𝒃𝒓𝒂𝒄𝒌𝒆𝒕𝒔 𝒃𝒚 𝒃𝒐𝒕𝒉 
𝒏𝒖𝒎𝒃𝒆𝒓𝒔 𝒊𝒏𝒔𝒊𝒅𝒆 𝒕𝒉𝒆 𝒃𝒓𝒂𝒄𝒌𝒆𝒕𝒔.
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(𝑥 + 3)(𝑥 + 2) (𝑛 + 5)(𝑛 + 9) (𝑥 + 6)(𝑥 + 3)

(𝑥 + 2)(𝑥 + 12) (𝑥 + 11)(𝑥 + 9) (𝑝 + 5)(𝑝 + 7)

(𝑚 − 3)(𝑚 − 8) (𝑥 − 14)(𝑥 − 2) (𝑥 − 12)(𝑥 − 3)

(𝑥 + 4)(𝑥 − 4)

(𝑥 + 5)(𝑥 − 5) (𝑝 − 12)(𝑝 + 6) (𝑥 + 9)(𝑥 − 7)

(𝑦 − 𝑚)(𝑦 + 2) (𝑥 − 9)(𝑥 + 𝑧) (𝑥 + 𝑦)(𝑥 − 𝑦)

(6𝑥 + 3)(𝑥 + 3) (5𝑞 − 4)(𝑞 − 7) (6𝑥 + 7)(𝑥 − 6)

(3𝑎 − 4)(𝑎 + 2) (6𝑥 + 𝑦)(𝑥 − 2𝑦) (9𝑐 − 𝑑)(𝑑 + 7)

(𝑥 − 6)(𝑥 + 6) (𝑛 − 3)(𝑛 + 3)
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2(𝑥 + 4)

(𝑥 + 2)(𝑥 − 4) −(2𝑥 − 5)(𝑥 + 3) (𝑥 − 2)ଶ
(𝑥 + 4)(𝑥 − 4)

2𝑥(𝑥ଶ + 2𝑥 − 3)

(𝑥 + 2) + (𝑥 − 5) (2𝑥 + 2) − (𝑥 − 5)

(𝑥 − 1) + (𝑥 + 2)(𝑥 − 3)
(𝑥 + 5)(𝑥 − 2) − (𝑥 + 3)

(𝑥 + 3) − (𝑥 − 4)(𝑥 + 1)

(𝑥 − 2)ଷ(2𝑥 + 1)(𝑥 − 3)(𝑥 + 4)

−2𝑥(𝑥 + 1) Distribution

(Foil)
Distribute
Combine

Foil
Triple Foil
Combine

Distribute
Combine

Foil
Distribute
Combine

Foil
Distribute
Combine

(𝑥 − 2)(𝑥ଶ − 4𝑥 + 1)

(𝑥 + 8) − (𝑥 + 2)(𝑥 − 1)
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2𝑥ଶ(𝑥 − 2) −𝑥(𝑥ଶ − 5𝑥 + 2) 2𝑥ଷ(1 − 𝑥)

(1 − 𝑥)(2 + 𝑥) (3 − 𝑥)(𝑥 − 4) 2(𝑥 + 3)(𝑥 − 4) −2𝑥(𝑥 + 5)(𝑥 − 2)

3(𝑥 − 2)ଶ

3𝑥(𝑥 + 2) − 2𝑥(𝑥 − 5)2(𝑥 − 1) − 3(𝑥 + 2)

(𝑥 + 2)(𝑥 + 2)

(𝑥 − 2)(𝑥 + 3) − (𝑥 − 2)(𝑥 + 3) 3𝑥(𝑥 + 1)(𝑥 − 3) − 2(𝑥 + 4)(𝑥 − 3)

5 − (𝑥 + 4)
6 + (𝑥 − 3)

M9 - 5.4 - Dist/Foil/Combine HW

   Poly Page 4    


